EARAROBEEIERT — 2 N— IBISH —F

201351 A31H () 12@)11I548

mﬁ vy b2 —8 (PRITH) B2 43R (xwlw | mEmml - |5 5 w8
[A&4£] 17 :4,000,000 23 :1,200,000 33 :800,000 4 7% :480,000 @ . 5 7 :320,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 . i 6 | FIRHER 1:42.1 1-1-1-1 [39.9| -— 5 484 | BB (R)
1812 ¥1T*7xVv 72X 55.0 (=) -2 ) 45Ty K95T 5747
LTI ATFIEIN B:vAxhlLyPa EvilLy RT7—L
NED o5 | BHE 1:42.4 8-9-4-3 [39.6| — 1 468 | E:EER— (J11IED)
2| 10| kB NE 57.0 (1 172) Cy) | PHER
R:2=yYzlb B:hIHIELT HEHS
+ = 4 5 | FIBEK 1:42.6 4-4-5-2 | 39.9| — 3 512 | BIUER (Fhk)
35| 6 OAXEI-IbT7T > 57.0 1172 +2) (B) EvJLyRT7r7—L4A
L:d—IRAaqfO— B:17xE LT« it Fk
5 K 44 | J|HZER 1:42.8 10-10-7-5 | 39.5| — 8 478 | #AKERRF (hR)
47|11 XA RIN=2 T 57.0 ) “n W) $5TLy KI5T 5747
RO—TXA AL BRARINEF AXREG2—T7— L
_ k] 142, -6-9- . — ERER (KFH)
5 5| a7V vEER o7 e 1(742533 7-6-9-4 | 39.8 7 (4+721) LEeT
R:7V%tx B:T757-47Y~7 RS
. . 4 | SEig— 1:43.1 [ 11-11-11-7 | 39.6 | — | 10 | 527 |BUER (BR)
6l1/1| FYV=LU=7 E 57.0 (' 1/2) (#7) | BIZL=ZK=Z (#)
LA T*ATv— BAEY-—XFTO=Z— [ankve]
=9 4 5 | HTHER 1:43.6 5-5-7-8 | 40.8| — 4 61 | B=F (JIF)
7 2 A AAIAUES 57.0 (2 1/2) (0) HEKE
ARV TI— B A AL b [OETES
. . . oS I . -8-0- — ERETE ()
8 3| o-H—d—-k 5 i (11.413/.29) 9-8-9-9 | 40.7 12 ;1_731) o R
WY —Fa— BiELARLA ERES
o s = FE R 144, —6-2- . — AR (hR)
o oS- 5 #a 1(34/%0 6-6-2-6 | 41.4 2 (4333; il
R:g=/F¥LLy b B:JLMIRIN—7— IREAIS
S 9 FRITHIBL 144, —-13-13- . — EEME (H)
10l8l13] FE/ VT REY 27 e 1(4;1)9 13-13-13-13| 39.6 13 4:2;1 2naz
L:AIO747> BEvITFrE— HEBS
_ R FZFHERE . —10-12- — FIRAER (J11i)
BB EESET PN i | 2 o0 |izizize 4 O Wl s
Ry TELAVF— BT7Z1—-XF1 TR BIE
i 5 | KEESE 1:45.9 3-3-6-11 |43.3| — 6 469 | WIAF (A1)
12 9| &7 b 5.0 (4) (-12) i%&?n
RZAZATLHK BiFy L INZ— PPN ¢
N os . RAR 146. 00— . — SEEBRA (FRaR)
13 g|d—IWKoH> "5 57.0? ! (426)3 29 1439 B (f;g) ;iﬁi‘ﬁ
A:d—ILRT7U2—)b B:NZ—NZy > K BRI
® I—F—@EBIERL
|S=7r= 12,8,9,6,2,4,5,10,3,11,1,7,13
20—4— 12,8,9,6,2,(4,5),3,10,11,1,7,13
33—+ — 12, (4,8),10,6,9, (2,11),(3,5),1,7,13
43—+ — 12,6,10,5,11,4,1,2,(3,8),9,7,13
[ RN
B 12 1,690 794K 10-12 490M & 7-8 1,490 &R 6-10-12 2,890/
# B 12 250H 6-12 1,340H B 8-7 4,200 EE 12-10-6 31,230M
10 110 6-10 260M B = 10-12 1,580/
6 1504 B HE 12-10 5,350

ABTICOVTRDTEEERROODE, JHB LS,




